2022528238 0K) £ F S )VPIRR o0k~

PRI &8 Bl ZilE] Ty | BF GoalTime
uF 50m/N\F 5+ BRI 2 Y L3I PR 6% 'R 11797
BF 50m/I\F TS5+ h+=E A 2V R3IL FiR i 1\ 05513
87 50mN\S TS5+ NI =5 'Y RSV PR T 1\ 1:09.21
BF 50m/INF TS5 SIRFRARER 2V R3IL FIR 8i% nm2 04589
uF 50mN\S TS5+ ik 'Y RSV PR 8% 2 o44. 77
uF 50m/INF TS5+ BAX 2m vV R3IL FiR 8i% nm2 04864
B7F 50mN\S TS5+ INE =& 'Y RSV PR 8% 2 04169
uF 50m/I\NF IS5+ E&S/@k Y R3SV FIR ik N3 04148
BF 50m/N\F 5+ SW EX Y R3S PR 11 | 15 0:32.01
BF 50m/INF IS5+ NE B8 Y R3SV FIR 10m®% | 4 03561
TF 50mN\S TS5+ af 8B 'Y RISV PR 8% 2 041 .91
B7F 50mILxE ik NI TV RIIL PR Ok %) 1.06.03
BF 50mIKE m ED Y R3IL PR 8% n2 05857
B7F 50mIxE NI =R TV RIIL PR Tk 1M 1:.0997
a7 50mExE BRIs = TV RFIIL FPIR 6% ) 1.09.27
uF 50mILKE BHFET Y R3SIL PR Tk I 05774
87 50mIKE mE Y R3SIL PR T 1\ 05823
BF 50mIEHKE he B TV RIIL PR Ok N3 04900
87 50mILKE mE EAX Y k3L PR O% N3 1.01.26
BF 50mIEHKE T+=E A TV RIIL FPIR Tk 1M 1.01.26
gF 50mIKE Il Bk Y k3L PR 8% n2 06252
a7 50mIEHKE a#F BR TV RIIL FIR 8% nhz 04946
87 50mIKE RE 2B Y 3L PR Oi% h4 0:43.39
BF 50mIEHKE B =K TV RIIL FPIR 10i% n4a 04618
87 50mILKE hx =E Y k3L PR 8% n2 0:4988
BF 100mB/dF W EX TV RIIL FPIR 11 NS 1.08.98
uF 100m/N\F IS5+ Sl &3 Y k3L PR 14i% | $2 1.09.26
ZF | 200mBAX RL— R8)IBiK TV RIIL FPIR Ok N3 336.78
B8F | 200mBAXRL— ws o # Y F3SIL PR O N3 31886
BF | 200mEAX L — {IIR-CPS TV RIIL PR 8% N3 324.05
BF | 200mBAX RL— s B 2V R3IL FIR Ok N3 30792
BF | 200mBAX RL— RE fE6E Y L3S PR O 4 3.04.96
B8F | 200mBAXRL— ] = =978 tYRIIL PR 108% | /4 30952
ZF | 200mBAX RL— AR IME Y L3S PR 12/ | e 25998
gF | 200mBAXRL— Sl &S Y R3SIL PR 14i% | $2 2:37.21
BF | 200mBAX RL— % B8 Y R3S PR 10/ | 4 25282
ZF | 200mBAX RL— g 2 2V R3IL FIR 10i% | M4 3:08.08
87 50mEkE B EZ Y L3S PR 8% n2 05925
gF 50misikE BAR 2 tYRISIL PR 8% n2 04938
BF 50m&EXE mE  # 'Y RSV PR T 1\ 05546
87 50misikE E1 NI = tYRISIL PR Ok % 05462
uF 50mEkE BHTET Y R3SIL PR Ti% 1\ 0:54 .51
87 50misikE STFIARR tYRISIL PR 8% n2 04595
57 50mEXE S BXx LY 3L PR 8% N3 K&
87 50misikE ms K tYRISIL PR Ok N3 0:44.60
87 50mEkE m8 EX Y R3SIL PR Oi% N3 0:53.80
gF 50misikE Mg e tYRISIL PR 10 | 4 04303




50mEKE S EX Y R3SIL PR 11 | 5 0:33.83
50misikE YN INE tYR3SIL PR 12/ | e 0:.35.22
50m&EXE hs B 'Y RSV PR O N3 04283
50mB BRug = Y RIIL PR Ok ) 1:04.63
50mBmH NI =5 'Y RSV PR T 1\ 050.72
50mB E1c N = Y RISIL PR Ok % 0:53.39
50mBm Ft+E A 'Y RISV PR T 1\ 0:49.00
50mB EHFET tYRIIL PR Tk I 04467
50mB mE EX Y R3S PR Oi% N3 04588
50mB mE tYRIIL PR Tk I 04475
50mE e B =D Y R3S PR 8% n2 04973
50mB BA =2 Y R3SIL PR 8% n2 0:40.60
50mBtf STRFAARR TV RFIIL FPIR 8% h2 0:3852
50mEB B e =% 'Y R3IL PR 8% n2 0:38.95
50mE e Il Bk Y R3SIL PR 8% n2 0:40.59
50mB 8 R8)8ik TV RIIL PR Ok N3 03781
50mB mes # Y R3S PR O N3 0:37.03
50mB Mg e Y RIIL PR 10 | 4 0:36.80
50mE e ] 5 =S8 Y R3SIL PR 10 | 4 0:34.55
50mBm# s BEX vV R3SV FIR 8i N3 03748
50mB# afF 8B Y L3IV PR 8% 2 038.16
50mB 8 INE 1SS TV RIIL FIR 10i% n4a 03255
50mE e Sl &3 Y 3L PR 14i% | $2 03124
50mB 8 AR INEE TV RIIL FPIR 12i% e 03348
50mBbH A fREE Y L3IV PR Ok 4 0:34.83




